o " " 5 O — —
ESMKM N CR }SL}S%E 7-'-'-"-.‘7{3 (B B)
- [TLA] REEE =1/168.0 FEZE =100.0% &57% =1/888.3) TR =458 BTk =32383&15

[TAA(2)] BEEE=1,/998 FEZ =100.0% §53% =1/249) EH7R =455 HE Bk =38283&15
WS RRE S - [ Rk [Ec)] #07  [TAB] BEE =1/555 FEZ =100.0% §53% =1/55.5) EEHHR =45K HIR =38283&15

B A8 (el R AR o0
AW oA PAT) — AT LI ]

WL - - NEIE L Dooo

W52l

| VIR T/ R
WEE LD

Q

o

o o]

Wi O 22 8 i

RR=THE> % ﬂﬁ = o\ [MAX HHE]
s 88 \j' [TLA](15 {B /5C)
[(SEZEET—] '3R{'E'|'21°ﬁ
— S e TAA(2)](15 {& /10C)
<SEREER= 5 E> R | AN e
[TAB](15 {& /5C)
*3R- 210 {&

TR, [EAMHER] BvEY, [FHBEM] ToMHIZ¥ECET, Presented by TKC  (HREH b—& - /7« 3FFiarX)




